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Figure 1: 3D figure
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CD-Shape

Suppose if
you are the manager of the

clothes department store. Use αΔT
spreadsheet to generate sale signs for each

item. Use it to determine the price of each
item during the Midnight Madness Sale when the

prices are discounted 25%. To find c ∇γ ,
substitute 25 for χ. List the prices of the

items during the Midnight Madness
Sale. What is the dis-count on
a T-shirt if the discount rate is
40%? Use the spread-sheet to
find the sale price of a denim jacket
if the discount rate is 35%. Suppose
you wanted to add a row ω to the
spreadsheet for a $99.59 suede jacket. List each
of the cell entries (A8, B8, and C8) that you would

enter. Explain why the formula in cell ζ correctly
finds the sale price of cotton sweaters. The

discount rate is entered into cell B1.
Then the formulas in the cells

in column.
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Votes in Assembly Elections
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The sum of the polynomials = (x – a)(x – b) + (x – b)(x – c) + (x – c)(x – a) 
The polynomial equation is (x – a)(x – b) + (x – b)(x – c) + (x – c)(x – a) = 0 
⇒ x2 – (a + b)x + ab + x2 – (b + c)x + bc + x2 – (c + a)x + ac = 0 
⇒ 3x2 – 2(a + b + c)x + ab + bc + ca = 0 
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OVERTIME IN € 0-20 20-30 30-50 50-80 80-100 

NUMBER OF 
WORKERS 

4 11 35 26 4 

Radar Graph 

 


